COMMUNICATIVE EXCHANGES

Kan Yisheng (Daifu)
(Visiting the Doctor)

An American student Anderson (A), attending school in China,

becomes sick.
doctor, Wan (W).

Frame 1
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His friend B4i (B) takes him to see the school
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LESSON 24 - COMMUNICATIVE EXCHANGES

Notes:

1,687 Resultative Verb compounds, (RV). The Potential Situation
is characterized by two infixes, de and bu. An RV indicating act-
ual Situation is characterized by one prefix méi, or one suffix
-le. Examples:

Potential: kandeddng can read (see) and be able to
understand
kanbuddng can read (see) but not be able
to understand
Actual: kanddngle have read (seen) and understood
méikanddng have read (seen) but didn't
understand

The above patterns with these four particles are the most
often used RV compounds. The Potential Situation refers to pre-
sent, future or ongoing happenings. Actual Situation refers to
completed action. In the above frame, there are four potential
cases:

chfbuxiaqu cannot eat (swallow) Sent. 1
z8udedbng can walk all right Sent. 6
z&ubuddng cannot walk Sent. 6 .
zliobukuai cannot walk quickly Sent. 7.

Some examples of RV potential and actual situations:

Potential Pos. Potential Neg. Actual Pos.. Actual Neqg.

tIngdejian tfngbujian tfngjianle méittngjian
kandejian kanbujian kanjianle méikanjian
tingdeddng tfngbuddng tfngddngle méittngddng
nidechliqu ndbuchiqu nidchliqule méindchliqu
miidezhdo mi3ibuzhdo miizhdole méimdizhdo
chldebio chfbubdo chlb3ole méichtbdo
shangdeldi shangbuldi shinglaile méishanglai
xiadequ xiabuqu xiaqule méixiaqu
xXi&dexialai xidbuxialai xiéxialaile méixidxialai
shuddewdn shuSbuwén shudwdnle méishudwdn
Frame 2
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LESSON 24

Frame 2

COMMUNICATIVE EXCHANGES

(Continued)

Notes:

12 Resultative Verb Endings (RVE). The ending -gI and several

others are limited to the Potential Situation. There is no such

usage for the Actual Situation.

zhubugi
zhudegl

Ta ySu qgién, zhﬁdqub
fandian, w5 méi gién,
zhubuqgl.

m3ibugl

miideqi

T8 y6u gidn, m3ideql
Yingguo gich&. WS

méi gidn, m3ibuqgl
zixingchs.

kanbugl

Bié kanbugl néige
hdizi, t& nianshd
niande hé&n h3o.

kandegl

Examples:

cannot afford to live or stay
can afford to live or stay

He has money and can afford to
stay in a hotel. I have no
money and cannot afford to
stay in one.

cannot afford to buy
can afford to buy

He has money and can afford to
buy a British car. I have no
money and cannot afford to
buy a bicycle.

cannot afford to see (movie,
opera, etc.)/to despise, to
look down

Don't despise that child; he
studies very well.

can afford to see (movie, opera,
etc.)/to respect, to think
highly of
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LESSON 24 COMMUNICATIVE EXCHANGES

T3 you gidn, shéi He is wealthy; everyone respects
dou kandeql t3. him.

Frame 3

Notes:

14 RVE -zhdo is one of the most frequently used Resultative Verb
Endings. It shows "success in attaining the object of the action.”

Examples:
mididezhdo able to (find it and) buy it
maibuzhdo unable to (find it and) buy it
mdizh4ole have bought it
méim3izhdo was unable to buy it (couldn't

find one to buy)
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LESSON 24 / COMMUNICATIVE EXCHANGES

zh3odezhdo able to find it
zhdobuzhdo unable to find it
zh3ozhdole have found it
méizh3ozhdo failed to find it

There are three ways to ask a RV-potential question:

(1) NI z&udedong ma? Are you able to walk?

(2) NI 2zdubudong ma? Are you unable to walk?

(3) NI z3udeddng, zdu Are you able to walk or not?
budoéng? )

There are four ways to ask a RV-actual question:
(1) NI zh3ozhdole ma? Have you found it?
(2) NI méizh3ozhdo ma? Didn't you find it?

(3) NI zh3ozhdole méizh3o- Did you find it or not?
' zhdo? .

(4) NI zh3ozhdole méiyou? Did you find it or not?
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